WRITING A RATIO AS A FRACTION OR LINEAR FUNCTION QUESTIONS
OCR Thursday 05 November 2020- Morning (Non-Calculator) Foundation Tier
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OCR Sample Question Paper 2 – Morning/Afternoon (Non - Calculator) Foundation Tier
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5.6[0] with comrect working

AND
M1 dep for theirimproper
fraction/decimalimixed number rounded
upto nextinteger

M1 for theirinteger multiplied by 70 or 0.7

1£0 scored,
SC1 for answer 5.60 or 5.6

“Correct working” requires full evidence of
M1AT AND M1 or convincing
pictorial/altemate convincing approach
For method accept equivalent decinials or
percentages (to 2 )

M2 could be spltinto %xlo& %xlﬂ
The method may be shown pictorally

For Al eg 7%, accept 4+ 3%o0e,
733 1% A implies M2

‘The method may be shown pictorially

Implies M1

Dep on their improper fraction # integer
Must show a more accurate value first,
could be in two parts eg 4 + 3% then 8

“This may be eamed by those with wrong
working then doing eg 8 x 0.7. Must see
a calculation implying an integer x 70 or
07,

could be in several parts
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‘Accept correct alternative methods
their 20 must come from a division of
140
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